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Candidate Name Assessment Name
Set Code Candidate 1d

Mobile Number

* Correct Answer is in Bold and slightly bigger
* Candidate selected option is Underlined

Odia Language

Q2860707 FYRYS FRIQ 6REE 'GUE’ I9a TacioEia a9 ?

Score Obtained : 1.0/ 1.0

A) 21Qem
B) e
C) 9e9
D)_caig

Q2860835 ANYS FRIQ 6R6E '6aIGN’ 90 FAR 4% ?
Seore Obtamed ; 1,0/ 1.0

A) Eeals

B) 21666l
C) feaen
D)_Geaia

02860776 ‘ATRPR <AW"~ QAT e @'Q ?
Score Obtained : 1.0/ 1.0
A) fgel
B) Fly6 @R
C) 99FIg AL

D)_saia sgo

os63106 AGERRQ IR 6QR ARG 6 ARG 99 96 0] A9 Qg

08 6Q18-9IR0Iq @ TIEAIR A9 AP Y V6 IIRGY AR [l |
2IRIQ FOIQ NIEAER QQEI IR QEM, 6426A FIGEIR 69QQ TR T | 9L

hittps /ireports menttracpanksha.com/ms dobirps/resreport. php 7 canid= 3563067 28&ac=A033877_EZ233917 V24
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64942 CIeA 9@ g8 RITRER Ql@@ QUIEQ QB FAAULS | Q@Q"Q]I 8 ﬂl@; 26eagl
e B RQRENERQ 69 FIQAIQ 6QAQ YRR 9, 2l 60F AR 6L QD | 690 1232
Jel@ QELa’ 1QRER 6T | 69 ACTRNCAFER VIR QAR 8 Q& 6QEM F1
AR I& FINGR QLR FARI QG | QA6 ?J@Q ARl QQQI@ @2l 99 64,
QI 3 2 AR 6IQER ATAUIIRQ FRQE AN QRIS UGS AR ae)e
QU F6Q | ARG 69, A6RR diyemia ﬂéj 2QdIogeQ UG 29 @Q2eE, QI
Q2 UQWIEQ J6Mm 64 6RERELEM RRRUIES | @_@@ CQ6m Yalldaell A9 QAR 112
gisia Qﬂ_ﬁi Qllﬂl‘c?q NG FGA FACAAIQ B IR 6Q6R G AT A @R
RAQIQ CAHILIRE | F1LRQ YRR ‘2]!°€]I@G? ZQQIEQ AGEM, J6GIR F1gFY 64 MUQ
QU AP @A6Q, 12J6Q AR QL | H19Q6Q \’1061 8“26) QAIRNQ ASEIOR 2T,
GE]@EJGG! I DU @09l 9699 QoL @l @GQ I
02863133 ‘6QQ+Q = 6QRQ - MOIEQ ‘Q JLUL 69Q YR CRINT?

Score Obtained : 1.0/ 1
A) @f@ 26
B)_@Ie 226
) AL el6Q
D) QAIAR! 6R

esei3 A6RR ARENIR ARAFFER UG @8 @RIS?
Score Obtained : 1.0/ 1
A) 6QIFI6QIY
B)_21qyie
0) @4l 298!
D) AR QS

Qs63130 ARYIC B AAAR 6P 6AFER AR FRE 26TV AL AT6Q 2P TG
@6Q?

Score Obtained : 1.0/ 1

A) 2R JERUSR
B) @Q4I 9Ra

) EI9@

D) _aiGaide Qo9
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Qs63132 QAR ARIQ = QR - M0IEQ ARG’ 226Q 609 AN 6RIRT?

Score Obtained : 1.0/ 1.

A)_ AR
B) Q@912

0) KIS

D) c&

s AAARIQ AOIRQ FRIERER ARSI QIR F6M, 6AY6R AIGVIQ @6 QTG 947

Score Obtained : 1.0/ 1.
A) 9eIQ
B) ¢1€19Q
C) d9Q
D)_69QQ

Q2860697 ‘691I9Q F6618'~ QRTQ 28 @' ?

Score Obtained : 1.0/ 1.
A) _of a1e
B) Q69@ @1
C) 26 09
D) Qée

Q2860834 DINYS FRIQ 696 'FIGA’ F9Q AIIARIST 99 G6L ?

Score Obtained : 1.0/ 1.
A) @RIQ1

B) &gl
C) 691

D)_«ar

Q2860767 6B FRIQ 629G AOATER A0 IR F6E ?

Score Obtained : 1.0/ 1.
A) 969I@
B) 29QIQ
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C) QIS
D)_cre

Q2860681 699 99 YR QI g9& 9eiA 99 2dq YRIE F6a IR @ 99 QRN ?
Score Obtained : -0.25 / 1

A) edde
B) 9@

C) 6QI99Q
D)_sdlag

Q2860715 B2 QEAIRI AUIQ 68QG 9@ JRAJR 9&° G9! 9@ 98 Q6 26E ?
Score Obtained : 1.0/ 1

A)_s
B) @
C) 8
D) @

Q2860683 'ATL - B IRF 60 6541Q IR 26E?

Score Obtained : -0.25/ 1

A) saiege
B) 6915@
C)_6Ql5@
D) Q@

Q2860726 AYNYE FRIQ 69LE IR FULIE 9@ ?
Score Obtained : 1.0/ 1
A) 218 AB0RQ
B)_zea gea
C) 4Q¢l 98l
D) qaq 216 AIRQl

English Language

Q2860189 Select the option that is grammatically and logically the most appropriate form of the given sentence:
We're used to work on the weekends, so meeting the deadline won't been a problem.
https://reports.merittracpariksha.com/rpsdob/rps/resreport.php?canid=356306728&ac=A033877_E233917 '
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A) We're used to working on weekends, so meeting the deadline won't be a problem.
B) We're used to working in the weekends, so meeting a deadlines won’t been a problem.
C) We're used to work in the weekends, so meeting the deadline won't be a problems.

D) We're used to working in the weekends, so meet the deadline won’t been a problem.

Q2860156 Given below is a sentence/phrase followed by four words. Choose the one that best describes the
sentence/phrase.
Something or someone puzzling, mysterious or inexplicable

Score Obtained : -0.25/

A) Ensemble
B)_Eschew

C) Enigma

D) Envision

Q2860231 Rearrange the jumbled words to form a meaningful sentence:
attraction / the / indoor / flower/ is / big /a / market / tourist

Score Obtained : 1.0/
A) The indoor a big tourist attraction flower market is.

B)_The indoor flower market is a big tourist attraction.
C) The flower market is indoor a big tourist attraction.
D) Big tourist the indoor flower market is a attraction.

02860280 Fill in the blanks with the correct option:
The team and partners gathered for merrymaking.

Score Obtained : 1.0/
A) There, Their

B)_Their, there
C) Where, their
D) Their, where

Q2860244 |dentify the synonym of the italicised word:

The three friends had a chat before commencing the informal discussion.
Score Obtained : 1.0/

A)_Friendly talk
B) Serious discussion

httne-llrannrte marittrarnaribeha ~amirmednhirneiracranart nhn?ranid=2RATNATIQLR a~r=AN22Q277 E222017
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C) Scuffle
D) Hot discussion

Q2860142 You will find a sentence using direct speech (words actually spoken) followed by four options. You are
required to choose the one that is the correct form of the sentence in indirect/reported speech
Lao Tzu said, "My journey of a thousand miles will begin with one step."

Score Obtained : -0.25 / 1.1
A)_Lao Tzu said that his journey of a thousand miles will begin with one step.

B) Lao Tzu said that his journey of a thousand miles would begin with one step.

C) Lao Tzu said that his journey of a thousand miles begins with one step.
D) Lao Tzu said that his journey of a thousand miles has begun with one step.

Q2860210 Which of the segment(s) has/have errors: [a] The government have approve [b] the Motor Vehicles

(Amendment) Bill [c] that preposes hefty penalties for violating traffic norms [d] including Rs 10,000 fine for not
giving way to emergency vehicles.

Score Obtained : -0.25 / 1.1

A) a&d
B) c&d
C)raé&b

D) a&c

Q2860167 In each of the questions below is a sentence followed by 4 idiomatic expressions. You are required to
choose which one could be used in the sentence.

When | told Mary that the coming Monday was a holiday, she looked up the list of public holidays on her phone
to make sure.

Score Obtained : 1.0 / 1.
A) A bad break

_B)_A doubting Thomas
C) A bunch of fives
D) A bull and cow

02860202 Change the voice of the following sentence: The builder built their homes with boulders for a facade.
Score Obtained : 1.0/ 1.1
A) Building the home with boulders for a facade was being done by the builder.

B) The builder their homes with boulders he built for a facade.
C) For a facade, the builder their homes with boulders built.

_D)_Their homes were built by the builder with boulders for a facade.
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02860095 Read the passage carefully and answer the questions given below it:
Among predatory dinosaurs, few flesh-eaters were bigger, faster and nastier than the "tyrant lizard" of
popular imagination, the Tyrannosaurus Rex. At least, that is what we have been led to believe.

Now research suggests that, far from being the Ferrari of dinosaurs, Tyrannosaurus Rex, whose
ferocious reputation has fascinated generations of schoolchildren, was in fact a cumbersome creature
with a usual running speed of twenty-five kilometres an hour. This is a mere snail's pace compared
with modern animals such as the cheetah.

Unlike some of the predators of today's African savannah, which can change direction almost
immediately, the dinosaur would have had to turn slowly or risk tumbling over. And while a human can
spin forty-five degrees in a twentieth of a second, a Tyrannosaurus would have taken as much as two
seconds, as it would have been hampered by its long tail. Thankfully, however, all its prey, such as
triceratops, would have been afflicted with the same lack of speed and agility.

The findings were reached after researchers used computer modelling and biomechanical calculations
to work out the dinosaur's speed, agility and weight. They based their calculations on measurements
taken from a fossil dinosaur representative of an average Tyrannosaurus and concluded the creatures
probably weighed between six and eight tonnes.

Calculations of the leg muscles suggest that the animal would have had a top speed of forty
kilometres an hour, which is nothing compared to a cheetah’s one hundred kilometres an hour. It is
sobering to reflect, though, that an Olympic sprinter runs at about thirty-five kilometres an hour, not
sufficient to outrun a Tyrannosaurus, should Man have been around at that time!

Q2860100 What did scientists consider when calculating the speed and agility of the Tyrannosaurus?
A.The examination of fossils
B.Computer models and biomechanical calculations

C.Comparisons with other animals

D.Comparison with other ages

Score Obtained : 1.0/ 1.0

A) A&D
B)_AsB
C) C&D
D) B&C

Q2860098 What made it difficult for the Tyrannosaurus to turn?

Score Obtained : 1.0/ 1.0

A) Its huge leg muscles
B) Its weight
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C)_The length of its tail
D) Its overall size

Q2860097 What is another word for 'cumbersome' as used in the passage?

Score Obtained : -0

A) Tardy
B) Measured
C)_Slow

D) Awkward

Q2860099 What is another word for 'hampered' as used in the passage?
Score Obtained :
A) Disgruntled
B) Incensed
g)_Burdened
D) Enraged

Q2860096 Being known as the ‘Ferrari of dinosaurs’ means the Tyrannosaurus Rex was ...
Score Obtained : -0

A)_Fast and nimble
B) Huge and heavy
C) A hunting machine

D) The most ferocious

Q2860253 Choose the antonym of the underlined word.

The immediate outcomes of GST in India are doubtful.

Score Obtained :
A) Near
B)_Distant

C) Proximate
D) Next

Current Affairs and General Knowledge

02859427 "We shall do or die. We shall either free India or die in the attempt. We shall not live to see the
https://reports.merittracpariksha.com/rpsdob/rps/resreport.php?canid=356306728&ac=A033877_E233917
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perpetuation of slavery." This was a mantra announced by which of the following leaders during the freedom
struggle for India?

Score Obtained : 1.0/

A) Lala Lajpat Rai
B) Aruna Asif Al

g)_Mahatma Gandhi
D) Jawaharlal Nehru

Q2859326 Pattadakal Monuments a wonderful piece of architecture are located near which of the following
cities?

Score Obtained : -0.25 /
A) Betul
B) Kolhapur

C) Bagalkot
D) Madurai

Q2859517 The minimum age of a candidate for election to the post of Governor of any State in India is:
Score Obtained : 1.0/
A) 20 years

B) 30 years
C) 25years

D)_BS years

Q2859493 According to the guidelines framed by National Human Rights Commission in 1993, what is the
timeline for reporting custodial deaths?

Score Obtained : -0.25/
A) 12 hours

B) 24 hours

C)_48 hours
D) 7 days

02859294 Who won the title of the Italian Grand Prix car race, 20217
Score Obtained : 1.0/
A) Max Verstappen

B)_Daniel Ricciardo
C) Valtteri Bottas
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D) Lewis Hamilton

Q2859389 What was the title given to the head of military department during Akbar's reign in his administration?

Score Obtained : 1.0/ 1.0
A) Sardar Qazi

B)_mir Bakshi
C) Diwan
D) Kotwal

Q2859491 What is the timeline for reporting a custodial rape case to the National Human Rights Commission of
India (NHRC)?

Score Obtained : 1.0/ 1.0
A) 48 hours

B)_24 hours
C) 12 hours
D) 7 days

Q2859462 Which of the following is a non-constitutional bodies of India?
Score Obtained : 1.0/ 1.0
A) Finance Commission

B) Union Public Service Commission

g)_State Information Commission
D) Election Commission

Q2859482 Article 32 of the Indian Constitution describes which of the following fundamental rights that each citizen of
the country is entitled?

Score Obtained : 1.0/ 1.0
A) Right to Equality before law

B) Cultural and Educational Rights
C) Right against Exploitation

D)_Righ! to Constitutional Remedies

02859520 As per the Official Languages Act, 1963, Hindi is one of the official languages of India in which of the following
scripts?

Score Obtained : 1.0/ 1.0

A) Prakrit
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B) Panini

g)_Devanagar’i
D) Brahmi

Q2859338 Which of the following is categorized in Abiotic resources?

Score Obtained : -0.25/ 1.0

A) Water

B) Forests
C)_Animals
D) Crops

Q2859327 The Rann of Kutch is the natural habitat for which of the following animals only?

Score Obtained : 1.0/ 1.0

A) Leopard cat
B) Blackbuck

C)_wild Ass
D) Indian pangolin

02859307 In December 2021, Chief Minister of Odisha Naveen Patnaik inaugurated Kalinga Art Gallery
and five regional art galleries in different parts of the State. Where is Kalinga Art Gallery situated?

Score Obtained : 1.0/ 1.0
A) Puri
B) Balasore

g)_Bhubaneswar
D) Koraput

Q2859408 Harshacharita was written by which of the following poets?
Score Obtained : 1.0/ 1.0
A) Kalidasa

B) Abul Fazl
C) Surdas

D)_Bana bhatta

2859235 Who is the Vice President of India as of November 20, 20217
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A) Mohammad Hamid Ansari

B)_M. Venkaiah Naidu
C) H.D. Deve Gowda
D) Bhairon Singh Shekhawat

Q2859416 Who among the following is a writer who composed the song "Amar Sonar Bangla" the national
anthem of Bangladesh?

Score Obtained : 1
A) Sharadindu Bandyopadhyay
B) Sunil Gangopadhyay
Q)_Rabindranath Tagore
D) Bankim Chandra Chatterjee

Q2859518 Which of the following reasons justifies the superiority of Lok Sabha over the Rajya Sabha?
Score Obtained : |
A) Lok Sabha can never be dissolved

B) Lok Sabha has a term of six years

Q)_Lok Sabha controls the imposition and collection of taxes

D) Lok Sabha is the upper house of the parliament

02859534 Which of the following options refer to a procedure introduced in the Parliament to draw
attention of the House to a definite matter of urgent public importance and needs the support of 5
members to be admitted?

Score Obtained : -00..
A) Closure Motion
B)_Superseding Motion

C) Adjournment Motion
D) Ancillary Motion

02859308 Who among the following are the beneficiaries of the new Balaram Yojana launched by
Government of Odisha in 20227

Score Obtained : 1

A) Fishermen
B) MNREGA workers
C) People below poverty line

D)_Landless farmers
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Q2859317 Asiatic lion- Panthera leo persica (Meyer) also known as babbar sher are found in which of the
following states in the country?

Score Obtained : 1.0 /1.0
A)_Gujarat
B) West Bengal

C) Madhya Pradesh
D) Maharashtra

Logical Reasoning

Q2859757 If in a certain language, EDUMISSION is coded as NOISSIMUDE, then how is EXOTIC coded in that
code language?

Score Obtained : 1.0/ 1.0
A) EXOTLC
B) CXOTIE
C) COXITE

D)_citoxe

Q2859679 By decreasing the price of table-fans by 20%, the sale increased by 30%. What is the effect on the
revenue of the shopkeeper?

Score Obtained : 1.0/ 1.0

A)_-ﬁl% increase
B) 3% increase
C) 6% decrease
D) 5% decrease

(2859775 Sunita says, “Swati's father Sundaram is the only son of my father-in-law, Mahesh.” Then how is Sindu, sister of
Swati, related to Mahesh?

Score Obtained : 1.0/ 1.0
A) Wife

B)__Grand Daughter
C) Daughter
D) Niece

Q2859882 An image is made from multiple geometric figures (marked with numbers). In the image, some regions
are formed. In each of these regions, as many dots are to be placed as the number of geometric figures that
has this as a part of it. In total, how many dots will be placed in the image?
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1 2

Score Obtained : -0.25 /1.0
A) 14
B)_8
C) 10
D) 12

Q2859595 The next number in the sequence 2, 9, 40, 101, is
Score Obtained : 1.0/ 1.0

A) 234
B) 312
C) 164

D) 198

Q2859705 Every digit in a number is coded as O if it is even and E if it is odd. Which of these could possibly be
coded as EOOOE?

Score Obtained : 1.0/ 1.0

A) 96824
B) 89182
C) 73429

D) 94623

Q2859883 An image is made from multiple geometric figures (marked with numbers). In the image, some regions
are formed. In each of these regions, as many dots are to be placed as the number of geometric figures that
intersect there. In total, how many dots will be placed in the image?

2
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Score Obtained : 1.0/ 1.0
A) 12
B)_s
C) 10
D) 14

Q2859836 A figure is given on the left with a pattern. Observe and find out which of the three images on the right
looks similar to the left half of this pattern?

L] 11

Score Obtained : -0.25 /1.0
A)_2

B) 1
C) Both 1 and 2
D) 3

Q2859866 If 'Nose' is related to 'Smell', then 'Skin' is related to

Score Obtained : 1.0/ 1.0
A) Hear
B) Taste
C) Speak

D)_Feel

Q2859785 While introducing Samrat, Seema said, “He is the only son of my mother's mother.” How is Seema related to
Samrat?

Score Obtained : 1.0/ 1.0
A) Mother
B) wife
C)_nNiece

D) Daughter

Q2859681 A man's salary was first decreased by 30 percent and then the reduced salary was increased by 30%.

¥
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What was his overall loss percentage?

Score Obtained : 1.0/ 1.0

A) o
B) 6
@5 7
D) 8

Q2859696 The length of a rectangle is twice it's breadth and has an area of 128 cm?. What is the length of the
rectangle?

Score Obtained : 1.0/ 1.0

A)_16 cm
B) 12cm
C) 8cm
D) 10 cm

Q2859629 The next number in the sequence 4, 12, 36, 108, 324, 972, ....... is

Score Obtained : 1.0/ 1.0

A)_2916
B) 6334
C) 2345
D) 1342

Q2859721 In a coding scheme, every digit is coded as a multiple of 3 that is just greater than or equal to it. Which
of these could possibly be coded as 36399367

Score Obtained : 0.0/ 1.0
A) 2638717

B) 2638715

C) 2658715
D) 4638715

Q2859613 The next number in the sequence 346, 360, 376, 394, 414, 436, is
Score Obtained : 1.0/ 1.0
A) 456

B) 472
C) 448

D)_460
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02859726 In a coding scheme, every digit is coded as a multiple of 3 that is just lesser than or equal to it. Which
of these could possibly be coded as 93336997

Score Obtained : 0.0/ 1.0
A) 9435599
B) 9435798

C) 9435799
D) 8435799

Q2859777 Showing Ruben, a man Vivek introduced, “His only brother is the father of my daughter’s father.” How is Ruben
related to Vivek?

Score Obtained : 1.0/ 1.0
A) Father
B) Brother
C) Grandfather

D)_Paternal Uncle

Q2859797 M and N are the married couple while P and Q are the brothers. P is the brother of M. How is Q related to N?
Score Obtained : 1.0/ 1.0

A) Son-in-law

B)_Brother-in-law

C) Cousin
D) Brother

Q2859642 The next number in the sequence 564368787, 56436878, 6436878, 643687, 43687, 4368, ........ is

Score Obtained : 1.0/ 1.0
A) 468
B) 463
C) 436

D)_3es

Q2859674 If the price of cooking oil increases by 25%, then what must be the percentage reduction in the
consumption of cooking oil such that the expenditure on cooking oil remains the same?

Score Obtained : 1.0/ 1.0
A) 25
B) 32
C) 30
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D) 20

Computer Fundamentals

02860355 Which Windows shortcut is used to quit active application or close current window?

Score Obtained : -0.25 /

A) Alt+F4

B) Ctrl + F5
C)_Alt+ ESC

D) Alt + Spacebar

Q2860469 Which of the following statements is FALSE about an operating system?
Score Obtained : 1.0/
A) 0S provides users an environment in which a user can execute programs conveniently and efficiently

B) An operating system controls the allocation of resources and services such as memory, processors, devices and information

C) An operating system is an intermediary between users and computer hardware

D)_OS does not manage hardware

Q2860498 Which of the following key-combinations is used for superscripting a text in MS Word?
Score Obtained : 1.0/
A) Ctrl +Shift+K

B)_ctri+shift + -
C) ctrl +shift+Q
D) Ctrl +Shift +B

Q2860384 Preet wants to convert the scanned image of handwritten text into digital text. Which input device should
she use?

Score Obtained : -0.25/
A) Keyboard

B) Optical Character Reader
C)_Magnetic Ink Character Recognition

D) Digital camera

Q2860403 Which of the following provides services to other computers in a network?
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A) Client
B) Node

g)_Sen.rer

D) Peer

Q2862803 Which of the following is NOT an open source OS?

Score Obtained : -0.25
A) Linux
B) Windows 10

C)_Mint OS
D) Ubuntu

Q2862794 Android OS is a product of which company?
Score Obtained : 1.0

A) Oracle
B) Apple
C) Microsoft

]_))_Google

Q2860304 Which of the following devices is an output device?
Score Obtained : 1.0
A) Scanner

B) Trackball
C) Lightpen

D)_Plotter

Q2860419 Choose the correct HTML tag for the largest heading.

Score Obtained : -0.25
A) H1
B) H2

C) H4
D) H3

Q2860356 Which Windows Shortcut Keys is used to open the Run menu in Windows operating system?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

4/28/22, 9:00 PM
A) Alt+R
B) Ctrl + R
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g)_Windows Key + R
D) shift+ R

2860376 Which shortcut key combination is used to display the projector settings in Window operating
system (Choose a presentation display mode)?

Score Obtained : -0.25/ 1.0
A) TAB + P
B) Ctrl + P
C)ALT +P

D) win+pP

2860525 How to add bullets to an existing list?

Score Obtained : 1.0/ 1.0

A)_Highlight list, Click on the bullets button on formatting tool bar
B) Highlight list, Click on Numbered list on formatting toolbar

C) Highlight list, Click on Multilevel list on formatting toolbar

D) Highlight list, Click on Add Paragraph List on formatting toolbar

Q2860522 Which of the following is the correct default name while saving a PowerPoint presentation 20077?

Score Obtained : -0.25/ 1.0

A) Presentation1
B) PP1

C) PowerPointl
D)_ppt1

Q2860311 Which type of applications allow the user to create newspapers, newsletters, brochures, and
similar types of publications?

Score Obtained : 1.0/ 1.0
A) Spreadsheet Software
B)_Desktop publishing

C) System software
D) Database software

Q2860399 Which data system provides a way of connecting directly to computer systems on the Internet?
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A) CU-SeeMe

B)_TELNET
C) Gopher
D) USENET newsgroups

General Science

2859213 Why do most loudspeakers have drives mounted inside some cabinets?
Score Obtained : 1.0/ 1.0

A) To allow constructive interference
B) To prevent unnecessary outside sound from interfering
C) To protect the speakers from damage

D)_To prevent destructive interference

Q2858945 Carbon and oxygen atoms react to form carbon dioxide by

Score Obtained : -0.25 /1.0

A) Sharing electrons

B) Gaining electrons only
C)_Losing and gaining electrons
D) Losing electrons only

Q2858933 Why does kitchen LPG gas sometimes burn with yellow flame?

Score Obtained : 1.0/ 1.0

A)_Incomplete combustion of the LPG gas
B) High temperature

C) Complete combustion of the LPG gas

D) lonization of gas

Q2859196 The higher the altitude, the more slowly windmills rotate at the same wind speed. Which of the following is the
most appropriate reason why the blades of windmills rotate more slowly in regions of higher altitude at the same wind
speed?

Score Obtained : 1.0/ 1.0

A) The gravity increases as the altitude increases
B) The temperature increases as the altitude increases
C) It rains more often as the altitude increases

D)_The air becomes less dense as altitude increases
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02859066 Nipah virus infection in humans causes a range of clinical presentations, from asymptomatic infection
(subclinical) to acute respiratory infection and fatal encephalitis. The natural host of the Nipah virus (NiV) is

Score Obtained : 1.0

A)_Fruit bat
B) Mosquitoes
C) Frog

D) Chimpanzee

Q2858912 Detergents can be made biodegradable by:

Score Obtained : 1.0,

A) Adding phosphate linkage to them
B) Converting the hydrocarbon part more aromatic

(_:)_Converting the hydrocarbon part less branched and straight chain

D) Converting the hydrocarbon part more branched

Q2859065 An animal that eats food from both plants and animals is

Score Obtained : 1.0

A)_Omnivore
B) Carnivore
C) Producer
D) Herbivore

Q2859183 The potential difference across a capacitor is doubled. What is the multiplication factor by which the
energy stored in it will change?

Score Obtained : 1.0,
A) 2
B) 3

C)_4
D) 1

Q2859072 The energy currency for most of the cellular processes like conduction of nervous impulses and protein
synthesis is

Score Obtained : 1.0,
A)_atp

B) Protein

https://reports.merittracpariksha.com/rpsdob/rps/resreport. php?canid=356306728&ac=A033877_E233917

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

4/28/22, 9:00 PM https:/freports. merittracpariksha.com/rpsdob/rps/resreport. php?canid=3563067288&ac=A033877_E233917

C) Vitamin
D) Fats

Q2859180 Light exhibits dual property - wave and particle. Which of the following explains the wave nature of
light?

Score Obtained : 1.0/ 1.0
A)_Huygen's Principle
B) Photoelectric Effect

C) Heisenberg's Principle
D) Kaiser Effect

Q2859075 Match the following glands given in SET | with their respective hormones given SET Il
SET I SET Il

(i) Pituitary (a) Insulin

(ii) Thyroid gland (b)Growth hormone

i) Pancreas (c)Thyroxine

Score Obtained : 1.0/ 1.0
A)_(i)-(b), (ii)-(c), (iii)-(2)
B) (i)-(c), (ii)-(b), (iii)-(a)
C) (i)-(b), (i)-(a), (iii)-(c)
D) (i)-(a), (ii)-(b), (iii)-(c)

CH,CH,NH,
HO. =

ZZ N

02858915 The common name of the following drug molecule is H

Score Obtained : 0.0/ 1.0
A) Heroin
B) Ranitidine

C) Serotonin

D) Phenelzine

Q2858929 Why is HNO3 called aqua fortis?
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A) It cannot dissolve any metal

B) It can dissolve most metals

C)_It can dissolve only gold

D) It can dissolve only platinum

Q2859173 Graphite and Diamond are the

A) isotopes of Carbon
B) isotones of Carbon
C) isomers of Carbon

D)_allotropes of Carbon

02859083 The male reproductive part in a human being that produces sperms is

A) scrotum

B) uterus

(_:)_testis

D) oviduct
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